F7EMFERE WXJOVIFE
9/21 (1) BEINFEK
BSs el (%) (=) =1 TO
9:00 A = =
1 9:30 HAIARE 49 VS 27 el BAEL (AT BiE
2| 10:35 SE\1E 72 VS 29 XN AR RA EXill
3| 11:40 BHLT 0 VS 20 H & SE\E| )T |4ERNT TR
4| 12:45 R A 21 VS 55 S8/ \i& EHLT | B& | &EHL
5| 13:50 H & 19 VS 68 HAIRE KA | 5E\E| SE\E
6| 14:55 XN 20 VS O EHET Hit |HBIIAR|BIIKE
9/22 (1) BHEIL/NFEK
s ] (%) (=) = TO
1 9:00 PRI 33 VS 29 el SE\E| BHEHLT | 55\E
2| 10:05 BHLT 0 VS 20 HAIRE ERINT| R [ERINTF
3| 11:10 H & 33 VS 72 S8/ \i& BHT [HIKRE| R
4| 12:15 HAIKE 71 VS 20 XN HiE |5E/\1E| &EHELT
5| 13:20 R A 26 VS 35 H & SHAIAE [R0) | T AR E
6| 14:25 585/\i& 20 VS O BT R HiE HiE
9/23 (#1) BEHEITNFK
BSs el (%) (=) =1 TO
1 9:00 EXINTF 47 VS 36 H & EAELT | R RA
2| 10:05 EL 0 VS 20 el ERIT| BHiE Hi&
3| 11:10 HAIKE 35 VS 34 SE\& AR | 555 \0E| S2F/\1&
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SE7EMERE WYJOYVIFE
9/6 () FMLNFR
BSs el (%) (&) =1 TO
9:00 A = =
1 9:30 REW 0 VS 20 2 = T8I r| BEK | BEK
2| 10:35 R 16 VS 61 F M| HEW | BR =R
3| 11:40 o x 59 VS 37 T8Il r BR | & &
4| 12:45 ERAR 20 VS O REW Mt |EBIr|EBEIr
5| 13:50 = R 83 VS 9 7R EEK | et | REWM
6| 14:55 = 71 VS 37 M x =150 7a/R 7a/R
7| 16:00 T8I r 23 VS 40 EfEAR &HlE il Mt
9/22 (#1)  HL/NFERK
BSs el (%) (=) =1 TO
1 9:00 REW 0 VS 20 7R &E |tBIr|tEIr
2| 10:05 =2 R 50 VS 17 & [ REW | AR 7aJR
3| 11:10 o x 46 VS 35 FEREIAR 2R | &R &lE
4| 12:15 T8I r 20 VS O REW ML | BREAR | BRAR
5| 13:20 R 41 VS 65 M x tB)r| REM | REWM
6| 14:25 FEREIAR 18 VS 34 =2 R i) At
7| 15:30 H [ 63 VS 35 T8Il r EEA | =R =R
9/27 (B) FEI/NFK
Sy ] (%) (&) = TO
1 9:30 = R 60 VS 28 M x R | BEA | BEAR
2| 10:35 REW 0 VS 20 F il =5 =5
3| 11:40 R 28 VS 43 TEIr &N | REW | REM
4| 12:45 5 [ 39 VS 49 FEREIAR tBIr| AR 74/
5| 13:50 T8I 18 VS 51 =2 R ERA | & &
6| 14:55 o x 20 VS O REW 2R [EBIr|tEIr
7 | 16:00 FEREIAR 50 VS 41 7R ML | REW | ZEW
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B7EMRFERE WZITOVIFE

9/13 (H) HENER

BSs el (%) (=) =1 TO

9:00 [ = ®
1 9:30 R 33 VS 35 H 5 &S | KFI N
2| 10:35 tE A 37 VS 22 mE=1 =7 R HS HS
3 11:40 5 B 29 VS 22 |FEar—2hT1—N-X| T pi=[l R
4 12:45 N 14 VS 26 h R & | TEE | TEE
5] 13:50 H 5 26 VS 43 1 N HE HE
6| 14:55| HAWZ1Z7 24 VS 40 5 % HS | | fEm
7 | 16:00|F&ar—zros—/t—X| 62 VS 22 NI wiE | FEF | B
9/21 () HENFER

BSs el (%) (=) =1 TO
1 9:30 X P9 16 VS 29 5 % i | BS | BS
2| 10:35 hOE 23 VS 36 fE AT A | BEF | &Y
3| 11:40|FBar—xbo1——-X| 45 VS 44 =1 =77 hE | tEfT | HET
4 12:45 H 5 48 VS 23 X M RS | fAE | Ak
5| 13:50 5 % 43 VS 22 FhE HS | KF9 | K9
6| 14:55 fE 46 VS 28 |FEar—aroq—n-x| BH | DR thE
7| 16:00| #HEBZ31Z77 46 VS 37 H 5 tErr | TEE | TS
9/22 (1) HENFK

By sl (%) (&) =1 TO
1 9:30 5 % 46 VS 31 H 5 AF3 | BT | ETT
2| 10:35|F#&ar-xt7c—-X| 37 VS 33 h R H¥ | HS HS
3 11:40 BB 1=7 45 VS 23 X &S| R HE
4 12:45 HE T 33 VS 40 5 % 121 I BN o I AN o
5| 13:50 H 5 64 VS 32 |FEar—xhoq—1-X| &Y | BF | BFF
6| 14:55 hOE 33 VS 43 mB=1=7 HS | &5 za
7| 16:00 X P9 19 VS 45 tE 7 E | Ak | A
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